o(d dxy) (cm)

10‘1'5"_':::::::""" Gat

o(d dz) (cm)

1075

Ratio

o

L -
i

0.9

=
NEEEEEEErSSESESEmm;

-+

1
M
7

3
¥

+ -*

=
T I T T T ITTL
*

0.8

|
w

-4

0.9

0 1 2 3 -3

0

1

2

—= ../../CMSSW_12_4_O_preS/src/DQM_VOOOl_ROOOOOOOOl_GIobal_mkFit_batchCAND-adjusn?qine)
—e— .././ICMSSW_12 4 0 pre3/src/DQM_V0001_R000000001__Global _mkFit CAND
—— DQM_V0001_R000000001__Global__mkFit_ CAND-AFTERCONFLICT3

o(® @ (raq%

o p_/p.)

.
d

3002

Rati

-

TR

T

&
B
)

0.9
0.8

N
ITTT

|
w

o
©

0 1 2 3
TP ® (PCA to beamline)

0

H: g ki -+
H: -+
H: El o
LA+ ot : -
1: -+ e A
1 3 B »
H: -4 -4 ap-|
H: -+~ e
5 -4 | b
. r 4. H |
2 A | A 4
. H . N -4
i i i i

1

2 3

TP ® (PCA to beamline)



	Contents
	Page 1


